
 

Attach the Backboard Bracket(10) with the Ring (48) with four M8X50mm 
Bolts (A5) , four M8 Spring Washers (G1) , four M8 Washers (D2), 
four M8 Locknuts (C2) assembly to Blackboard（19）.

 

10

19

48

A5
G1

D2

A5  M8X50 Bolt  
       4 pcs

D2  M8 Washer  
      8 pcs

G1  M8 Spring Washer 
       4 pcs


